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The questions are grouped in the following manner:
Part A : Q1 - Q4

PartB : Q5-Q9

Part C : Q10-Q11

Mark your Index Ni_lrnber and the Part yoii are ansWering on the answer book provided to
‘you. ‘ : ‘ ‘ ‘ :

Please answer a total of six gueshons, choosmg not more than three from any smgl ¢ part. Do
not use more than 300 words to answer any question.

. Please do not copy dlrectly from a text H you have to quote, please do so within inverted
commas :

PartA

1 “In September .'iOIO United'Nation‘s Secretary'G'eoeral introduced the target of universal energy

~ access (energy for all) by 2030. This means the supply of energy to a basic minirmum level to’
mllhons of people who do not have access However, accordmg 1o the Energy Outlook 2009
most 1mportant fossﬂ fuel based energy sources (oil and natural gas) will last only a few more |
decades. On top of that energy sector is one of the main contnbutors of green house gas -
emlssmn and hence to chmate change '

- Under ﬂJJS reality of the depletron of fossil fuel based energy sources and global warmmg the

'target set. by the United Nations can be unreahstlo and un_]ustlﬁab]e unless a proper strategy is

: rused Dlscuss a _]ustlﬁab]e strategy that can be adopted by the United Nations to achleve ‘

| umversal access target while acceptmg the above mentloned rea11t1es (1 00 marks)
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-2 Wnte in your own words short notes on four of the six terms mentloned below w1th examples »
. explain the term wherever p0551ble (100 marks) '
1. Paradlgrn of Tearus -
il. Teehnologlcal fix
iR Legltlmate material needs .
. iv. Replaceable Energy Sources |
" 'v Basm resources for productron

vi. Net Present Value in: pro_]ect evaluatron

-3. a) DISCUSS charactenst.tcs of low entropy and hlgh entropy states the terms ° quahty of energy ,' S |
- “order/chaos”, “information content” and “stablhty” (30-marks) '
b) Assume a bus travelmg ﬁom Colombo to Anuradhapura and all the seats are occup1ed by . ll
N passengers Explam why people seated i 1n the bus tend to get dowr walk randomly and mix -
» w1th each. other ata breakdown usmg your knowledge on entropy obtamed by mterpretmg
the second law of thermodynannes (40 marks) '

' c) Draw a graph of entropy change of a human bemg from bll'l.ll to death (30 marks)

| 4, “D;scount rates generally, 1s a term used by econormsts However .the debate in. .1980s° on -

i whether Sri Lanka needs coal power electnclty generatlon made- the term widely used beyond-‘ -
' tbe c1rcles of economlsts, dJ.SCl.ISSCd and contest Whlle the CEB was in-favour: of: ‘high dlscount'
e rates the environment lobby argued in favour of low dJscount rates n th1s debate” Why‘? Please .

o discuss in detail (100 marks)

h PartB

o 5 a) Llst out the brogeochermcal cycles in forest ecosystem (25 marks)

b) Bneﬂy discuss glvmg examples how blogeocher.rucal cycles are sub]ect to dlsturbance by oo

: " human act1v1t1es‘? (75 marks)

o ‘:6‘;"va).' Sohd waste management has always been a ma_]or problem in Sn Lanka, causmg serious
A envuomnental degradatlon Assume that mumc1pal councﬂ is gomg to the 1rnplementatlon |
of a compostmg plant to prevent the numerous unpacts assomated wﬂh in proper solid waste
management in Sri Lanka Brleﬂy d1scuss posmve and negatwe 1mpacts of the pro;ects .
(60 marks) ' o
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b). Recommend mitigation measures to minimize the negative impacts while improving

positive impacts. (40 marks)

7. a). Giving the examples describe the components of an aquatic ecasystem. (30 marks).
b). Briefly discuss the consequences of species loss for the functioning of an aquatic_ ecosystem.
(70 marics)

8. Write short notes on three of the following, { 100 marks).

| a) Basic characteristics of visual composition |
b) Initial environmental exarnination
c) Potential risk from mobile phones :
d) Nitrogen and acidification of lakes

9. “When you change the visual env:romnent, it becomes a SOC]‘dl problem” Please comment on -
this statement. (1 00 Marks)

| Part C

10 'I'here is an argument that techno]ogy is male biased. The fact that the car was invented long
. before the washmg machme is taken as an example to prove the above statement. Are you in

agreement or not? Please discuss. (100 marks)

11 Could you state as to why climate change is simply not a questlon of global wanmng‘?
(100 marks)



